{#) Husqvarna

FS 650e/6 08 <2008><EU><2503H4>

TIMING DRIVE
7140
LOCTITE 243
o
LOCTITE 243/
Pos Part Number Description Additional Text Quantity
1 80036001000 TIMING CHAIN GUIDE 04 1.00
2 82036002000 TENSIONER 650 05 1.00
3 59036003000 TIMINGCHAIN TENSIONER CPL.RAC. 1.00
10 82036010000 CAMSHAFT 650 04 650 1.00
11 80036011100 CAMSHAFT GEAR 05 1.00
13 82036013100 TIMING CHAIN G67BW 70L DID 05 650 1.00
14 80036013150 LINK FOR TIMING CHAIN DID 05 DID-CHAIN 1.00
15 0625062014 BALL BEARING 6201 2.00
16 59036016000 AUTO DECOMPRESSION SHAFT 1.00
17 59036017000 SPRING FOR AUTODECOMPRESSION 1.00
21 80036001050 SPACER BUSHING TIM.CH.GUIDE 04 1.00
22 80036002050 STEPPED SPACER BUSHING 04 1.00
23 59036003050 GASKET TIMING CHAIN TENSIONER 1.00
27 59036060010 SHIM ALU 5,2X10X2 1.00
37 80036037000 TIMING CHAIN GEAR 03 1.00
45 0984080103 AH SCREW DIN7984-M 8X10 2.00
50 0015050163 HH COLLAR SCREW M 5X16 WS=8 1.00
52 0015060123 HH COLLAR SCREW M 6X12 WS=8 1.00
54 0015060163 HH COLLAR SCREW M 6X16 WS=8 FE, FS 2.00




